PS-5352-05

Part Number

020404
021704
024101
024107
024902
024904
036613
506818
CT-336/10
CT-648/2
CT-648B/1
CT-648D/1
CT-659
TA-08507
TA-51015
TA-51024
TA-51119A
TA-51125A
TA-51126A

B PATENTED

SYSTEMS
INC.

Service Kits Details

GOVERNOR SERVICE KIT TA 1750

Part Description

SEAL, OIL, 3/8"

WASHER, SPRING, 1/4"
BEARING, BALL, 1/2"
BEARING, BALL, 1-1/4"

TAB WASHER, 90 RIGHT, 1/4"
TAB WASHER, 90 RIGHT, 3/8"
SEAL, BONDED, 1/2 BSP
O-RING, 1/8 X 1-7/8

O-RING, .275 X 7-5/8 X 8-1/8
BEARING, 7/32 X 3/8 X 7/8
BEARING,

BEARING, 7/32 X 1/4 X 3/4
COUPLING(FOR SPEEDOMOTOR)
RETAINER (FOR GOVERNOR)
SHIM, LAMINATED

PLUG, ADJUSTMENT

GOV. LIP SEAL, GACO DE 300
GASKET

GASKET

— kN = = kN = N = = om0 W o— = N

25923 TINA LANE

KATY, TEXAS 77494

TEL: (281) 352-8588

FAX: (501) 694-3080
psi@patented-systems.com

Web Site: www.patented-systems.com

um

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA



